Exercise 11 
Q1.  Consider a certain school for ‘a study of smoking habits’.
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= Proportion of smokers in a study, and
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= Proportion of smokers in a certain school.
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(c) 99% Confidence Interval for 
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Q2.  Consider a study on ‘incidence of breast cancer’ in the city.
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  = Number of women selected at random from the city;  
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 where
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= Proportion of women have breast cancer in a study.
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= Proportion of women have breast cancer in the city.
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(b) 95% Confidence Interval for 
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Q3.  
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 where  
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= Proportion of cancer patients who cured by a certain drug.
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= Estimate of cancer patients who cured by a certain drug.
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= Proportion of cancer patients who cured by the drug.
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     (c)   90% Confidence Interval for 
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SUMMARY 

Q1:
n = 400    N = 60
Proportion = 0.15   

                                              Confidence Limits

Confidence        z                 Lower           Upper

    90%            1.645             0.1205           0.1795

    95%            1.96   
          0.1150           0.1850

    99%            2.575             0.1039           0.1961

Q2:
n = 800    N = 60
Proportion = 0.075   

                                              Confidence Limits

Confidence        z                 Lower           Upper

    90%            1.645             0.0596           0.0904

    95%            1.96               0.0567           0.0933

    99%            2.575             0.0510           0.0990
Q3:
n = 900    N = 850
Proportion = 0.944   

                                              Confidence Limits

Confidence        z                 Lower           Upper

    90%            1.645             0.9314           0.9566

    95%            1.96               0.9290           0.9590

    99%            2.575             0.9242           0.9638
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